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1 3 — —

Find th dis!ance:*d(m Pz) between the given points P4 Ay
and P,. k/?,n,),(‘) 7 (‘7‘._01L) ]
P,=(-22) 3 3 -
P; (5.5) f F (&))”f((a) ~(%))" :V/,

V (- 2-x)tr(2=)%

i VD &+ ()¢ 6@ 2]
S+ ———"\

() sy ' oon

(Simplify your answer. Type an exact ans IngTadicals-as needed.) =

Cdc7.6/17773(06
Answer: 4/58 B =

“J< 7616 )
ID: F.1.21 ' =

2. Find @ the line segment joining the points P, and P,. (Z

P;=(2, -5);P,=(6,7)

The midpoint of the line segment joining the points Py and P,is |
(Simplify your answer. Type an ordered pair.)
‘7 -+ (7 ’

prewer BT ﬂ/' o /(}"\' / {,—f/ b /‘%:’ /
ID: F.1.39 /Mw"(/: ¥ = / (e_) -f—(é) ( gj’/’(ﬂ
YN (2f€
ﬂ/l -//ﬂdrvl /ﬁ
(L,
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AY

For the equation X + y2 —4x-2y-4=0, do the following. 104

(a) Find the center (h,k) and radius r of the t;lrcla

o>, -
(b) Graph the circle. * J
(c) Find the intercepts, if any. »{‘\ L&'L \ &
- \} “Irl ] 44
(a) The center is ; \ ) &
(Type an ordered pair.) \ ; '-rk _;’I 2+
. L uid
The radius is r=| :7\}\)& / 0 B 6 4 2 | 2 4 6 8 10
24

(b) Use the graphing tool to graph the cirsle. / .
\_// __1_,,
(c) Find the intercepts, if any. Select the correct choice |
below and, if necessary, fill in the answer box to complete B

your choice. 1
-B
() A. The intercept(s) is/are Ao

(Type an ordered pair. Use a comma to - = —
separate answers as needed. Type { « / """'(f/ )( — &4 (f o
Ar:(#'tyf#k] =

exact answers for each coordinate, using A/
radicals as needed.) ‘ ) ( 1

) B. Therelsnomtezcept)( ~Ex ({(‘V)) “f‘j __)_ 7 (_/{__{DC - L]/ o /‘}/"())T‘/'ZL/“?))

Answers (2,1) )( - "/"(‘“Z} —f’) ——-(7 -r-(() ¢ - (f - ( () "f‘(“/)d

of’ Q(*“c’) ()( 2 ) ()Hr)f]-—()

B~

o 8 6 4 -2
wt)
65+
B
A0
- wirSers b |
A. The intercept(s) is/are | (2-242,0), (2+242,0),(0,1-45),(0,1+ 45, 5 ‘> 7 /
(Type an ordered pair. Use a comma to separate answers as needed. Tﬁ xact answers for each coordinatg,
using radicals as needed.) ‘ E—— .
ID: F.4.27 /f
WJ_ — — —_—_-_-—-_\“\‘___
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4. Solve the inequality 2 - 3x < — 4. Graph the solution set.

In set notation, the solution is {x| I }» (Type an inequality.)

Graph the solution set. Choose the correct graph below.

. ——— | it
OA 9 6 3 0 3 6 9 OB 9 6 -

O cC. "“—'—H—*—'—'—’-H—'—'-("""'"'"'» ) D. 4—i—l—i—|—1—|—|—|—|—n—(-n--1-—»

=0 s x< oY
S — o{r)v-.»ﬂ < vOo7 a7
e o X< e 73100‘»/

_ Aleoh
o ik > a8 Dl
k‘h a5 ek

\\15 (’7 E’x

Answers x> 2
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5. Find the following for the function f(x) = 3x° + 2x - 2.

(a) f(0) (b) () (c) (- 5) (d) f(-x)
(e) -f(x) (f) f(x +2) (9) f(4x) (h) f(x +h)

@fO)=] | (simplify your answer.)
()f5)=[ | (Simplify your answer)
(©f-5=]  |(Simplify your answer)
(df(-x)=| | (Simplify your answer.)
(e) -fx)=| | (Simplify your answer.)
Mfx+2)=| | (Simplify your answer.)
@f@= | (simplify your answer)
() fx+h)=| | (Simplify your answer.)

Answers -2
83
63
3x% -2x-2
- 3x2 -2x+2
3x% + 14x+14
48x° + 8x -2

3x2 +6hx+3h% +2x+2h-2

ID:1.1.43



@a £/ < 3% “hax —¢
Ay~ 3 (0) e -
fra)= 3(Q0) (@&
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Aoz 0T 07¢
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fs)= 3(s) T RS~ ¢
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fre)T3(28) +205)— &
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//((_5-/ 3= i=r) —F Z("—i“; — ¢
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fr)= 3() L)
//(,.,-,() = 3(=) () ()T
A —x) ._:_Jg_(/(Z) e

fie) T 30 e

//




) |
é’@ Al = 3¢ 2K — 2
~fr = ’(5/(—7"?%—#@)

ﬁ_}f L_t+1 %
= //

C/ 7{4#3%2—#2/ "

//(/Gz) 3//(+8)  C(X#¢) — ¢
/[//4'&/ 3N+ K t)+ K] — &
//(,(45):’5[/1—(—5,(74 L) FLAw)— L
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/(KH/ 3 r et UYL

@ x! —+ /X (% \}//
/




Es s
//‘f‘x’) e 3/%<)2ﬁ* (%) — &
/(7%() S ) Soc) + 2 () —¢
//__(_{,_(L’ 30761} + Sffr) —2

@x’)f SREE" o 7(—25

(5] far3ctree —¢
AOth) = 3 (o) ¢ Grerst) — 2
Aot} < 3 e k) -2l tad) — 2
/(/"’/i/: 2x Spheind~ b Vi) — 2
Aoiet ) 20xt ¢ 200 )40/ steh)~ 2

e i B | \‘- I
//(Wé/ =3¢ Fhxh o 352 LK 2 4 —*JZ/




6. Find the domain of the function.
/ f(x)= 4/6x - 18

The domain is :] (Type your answer in interval notation.)

Answer: [3,00)

ID: 1.1.59

/[Az/ - (@(r*/f

AN 6%“//2 =2
6 X— (FFM = OB
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7. Fnr the given functions f and g, complete parts (a) -(h). For parts (a)-(d), also find the domain.

f(x)=2x+1; g(x)=5x -4 (f‘f})/s(/
(a) Find (f+ g)(x). ,/:.r’( - ) <) "’- g)M"’”“’
. (27 ) T S~
f+a)(x)= (Simplify your answer.}
— el TIV—Y M (//

What is the domain of f + g? Select the correct choice below and, i __aeoessary, f' Ilin the answer hox co_rrgplate your

choice. <‘f7’i|( 3z _‘t/f/

© A. The domain is {x| }.
(Use integers or fractions for any numbers in the e}ressmn Use a comma to separate
answers as needed.
‘ (£ 1 25 =

() B. The domain is {x| x is any real number}. ) = _

| A5t — I //
(b) Find (f- g)(x). (2/( /) — /5—(.,9// i / C O/ -
7/ -

(f-g)(x) = | (Simplify your answer.) —_— - - , )
] XA — ATz > (V) 4

What is the domain of f— g? Select the correct choice below and, if neoessagLf ill in the answer box to complete your.—

choice. — 3 X o5 \ (3 _

© A. The domain is {x| }

(Use integers or fractions for any numbers in the expressiop. Use a comma to separate

answers as needed.) &( ( y, //// -

(0 B. The domain is {x| x is any real number}. 5 f T
(l(_ ()/4//((,» \]

5’ é@ x4 =
(c) Find (f« g)(x). — .
3 . e 1o (Z)(,,a( )(5 ¥ “/) - M//

(feg)(x)= | (Simplify your answer.) -
s (OxL — FL v 5 XY =

What is the domain of f < g? Select the correct choice below and |f necessary, fill in the an wer box to }pfete your choice.

. O o —
) A. The domain is {x } / ’( 5 )( 1 \3 jw
(Use integers or fractions for any numbers in the expression. Use acomma to separate = _
answers as needed.) YX = ()/ P

B. The domain is {x| x is any real number}. (/ )((/ - / S,\/ (/ff/ S U7y
[/ Sy~=¢

f
(d) Find (EJ (x). / . /

/ (X — X
/ (}4) =L d 5 5”

(é} (0 = (Simplify your answer.) ( __é_’{_f.-/ ~ “&.\’;)/ / )( z‘:

< %)
¢ S~y o, g/,/_/ "
What is the domain of — g —7 Select the correct choice below and, if necessary, fill in the answer box to complete-yourcheoice.

74 ;)/)(/ 7~
A. The domain is {x| }. f?/ Z/ 702) -3

(Use integers or fractions for any numbers:in the expression. Use a comma to separate

answers as needed.) /y)) (5/ z /y 5
(O B. The domain is {x| x is any real nu er}(/ j//@) //

(e) Find (f+ g)(2).

5 of 63 10/17/2019, 9:42 AM



finalm1314COC079sulllljjRZZ12E-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

(f+g)(2)= (Type an integer or a simplified fraction.) ( ,/ y/)// o — 3 /\/,/ v

9 (f) Find (f- g)(4). E}j/e,/, 3/ )5
(f-g)4)= | (Type an integer or a simplified fraction.) — //V) = / 1 -+ 5 L/
() Find (f- g)(3). 6 /(x,r ) E 7 N i
/’

(f+g)(3) =] (Type an integer or a simplified fraction.)

/ “//x’} = fox “—3)//7/
(#/(3) = 02)t=307)—y
[ J(1) (Type an integer or a simplifie racho?g/ /J /3 // == 2 /3 ) o

Answers 7x~ 3 /5//%) /0@/ —‘3(?) V
B. The domain is {x| x is any real number} ¢ ?) ( ﬁ) § 5 — ? s
-3x+5
B. The domain is {x| x is any real number / 7) (3) 27 / - C/

10x% - 3x - 4 Cf))( 5) ﬁ —

B. The domain is {x| X is any real number}.
2x + 1 / /
_,.,-""'"_ %
5x-4 ( / /
4 4 i
X+ — it =
5 | )( ) SCH

(Use integers or fractions for any numbers in th pnessmn Use a comma to separéte answers as needed.)

s ( )(l)g 27‘/

77

3 (/)()” 'F‘

ID: 1.1.67 Ean Q,/(//

G

[
(h) Find [ng.

A. The domain is {x|
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8. the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.
f(x) = x = 8; g(x) = 9x> @794+ <

(a) Find (f + g)(x). /4’z 7 5 6<) _E i Gk :

F+o))=___ (Simplify your answg{ &t (Tx ) )

X—=f4Gxc= %M Qﬁ)/

What is the domain of f+ g? Select the correct choice below and, if necessary, fillin Wns er box to comp!et& our

choice. &?")/L_’p/{ éf/) Wl NS

O A. The domain is {x|
(Use integers or fractions for any numbers inth ?pressmn Use a comma to separate

answers as needed.)
9)5) <
O B. The domain is {x| x is any real number}.

: f'_/ —5 ",)“- '

- " - .
f=g)(x) =/ | (Simplify your answerg ',_ b} = (f,\"'a = { V’ W
x to complete olir

3

O B. The domain is {x| x is any real number}.

(e) Find (f + g)(3).

O A. The domain is {x| }.
(O B. The domain is {x| x is any real number}.
k{, -//Jf?v‘]
answers as needed.)
/.I'._'—
x)= . | (simplify your answer.) ’_’_i_’
[5)eo- Q _/ Lf\ = @ o
f L G ¥
(Use integers or fractions for any numbers inthe expression. Use a comma to separate
/_,/(J) z /_/vs‘) -ff/3/’

What is the domain of f - g? Select the correct choice balow and~|fﬂeaessary. filLin the ans er ba
(Use integers or fractions for any numbers in the expression. Use a comma to separate
q (c) Find (f~g)(x). 4 _ ~ ) =
oyt ) —
(feg)(@) = (Simplify your answer.,) (/ /)( }/ ) s
72 ~
O A. The domain is {x } P X X = o
£, 7
O B. The domain is {x| x is any real number}. ( 7 %) < M q/( < O
g¢lo ¢
What is the domain of —? Select the correct choice below and, if necessary, fill i |n the answer boxto oomplete your a'wlc )
answers as needed.) - 3).w f ff “x ﬂ/ 'J
/zr"ﬁ
f oo § =

choice. - \;_
—Gx S — -4
answers as needed. £ _
’ (£e9) ) <
What is the domain of f» g? Select the correct choice below and, if necessary, fill in the answz:r/box to" complete’ your choice.
(Use integers or fractions for any numbers in the expression. Use a comma to separate
7% = LL
(d) Find [ ](x) //Z‘i— = - 47
F3)/ = X “ex =7
© A. The domain is {x| }.
)(3)2 VBN 3) ”?“/3/ —a
L——Imlmm 9:4
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-V 7~ = ,
(f+9)(3) =: R | (Type an integer or a simplified fraction.) ([—W - —(7{ ga )< — 37
N Y i ey & - =
(f) Find (f- g)(4). '-+7/ /V) T —9(¢ P, a4 )

(f-g)4)=__(Typean integer or a simplified fracho;: )//5‘) " ,—e)/?)ﬁ/) '7"/"// ~D/
@ Fna -2 (£9/(9) = —9(16) ~F/~ ¥
§ FIND) <59 +5—F

(feg)(2)= (Type an integer or a simplified fracti
E— Co )y ) c /%07
/7) ('(/l = At

(h)Fmd[ }(3) (/—*)(V) shd

( ](3) | | (Type an integer or a simplified fraction.) (f/ //)(/ 7A/ "73)(

Answers 9x° +x -8 ([}//?)“ (7(2) _72/2)
B. The domain is {x| x is any real number}. }///(L/) - (“/Z)/)/Z) o 72 (Z)/Z/
o domanie e )= ) —72(%)
9B.3Tte7:ozma|n is {x| x is any real TL—lmfe . “//(ZL 72( - Z W
B. The d)c()main is {x| x is any re<ﬂ g{/U/
x-8 ) __37
7

9x2

A. The domainiis {x| __ x#0 b

(Use integers or fractions for any numbers in the expression. Use a comma to separate answers as needed.)

T OE

'
81 A

ID: 1.1.69 /)/75)(3) -

9. 4 , f(x+h) - f(x) .
ind the difference quotient of f; that is, find — h# 0, for the following function. Be sure to simplify.

¢ Lo
f(x) = x> = 8x+2. (({{/V "’56(»/’/;)"&‘L)"'(’(; Ixre) -

Z
RN 1 Wt Glrh) — 84 56+ —X L»f_@X - =
S G R Ol L . LI it . e
| | . L, A
P xtht h =5 Wh bl Th
4 - Th Y, 4
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10.  Given f(x) = x2 - 2x + 2, find the value(s) for x such that f(x) = 37.

The solution set is {!_ o 1}

- 4 -
Answer; -57 X ,.r()(,/( - )/ 7
ID: 1.1.91 X l,.-g}/h_{ (_7 Hj -

{r’ /("Z)i (—~2} -?‘([)(‘-Zﬁr |
2 (1)

Y= 220 %+ lpo |
P

ya
)(;: Z;i‘}ﬂ \
& ,,_-%ﬁ’-’—'—
- té’ ey
)()(:(/Mé ot )(: =4
= =5 SOk @

9 QQE—/LN/Ii —— LOA7/2019,9:42 AM i
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1.
Determine whether the graph is that of a function by using

Ahe vertical-line test. If it is, use the graph to find
¢ (a) its domain and range.
(b) the intercepts, if any.

(c) any symmetry with respect to the x-axis, y-axis, or the
origin.

Is the graph that of a function?

L/ No

https://xlitemprod.pearsoncmg.com/api/v1/print/math

12:w(0/ %)

(33) gl

-15 7 -J ;, i J'

If the graph is that of a function, what are the domain and range of the function? Select the correct choice below and fill in

any answer boxes within your choice.

i

our ans

z)-/x ]{vj;
rs m mtenfal notatio

Y
(O B. The graph is not a function.

(/j/f vish4)

TN Y '3
The(acg?ﬁs ( % =

] //( b, o "'015;

What are the int?rcepts? Select the carrect choice below and fill in any answer boxes within your choice.

—i 7Y 2 A

K it
(* 6,0)

/6) o)

) bl
ﬂ)} _’5)7 1 becna

(Type an ordered pair. Use a comma to separate answers as needed.)

B. There are no intercepts.
C. The graph is not a function.

Determine if the graph is symmetrical.

= = e
(\ "/ A. It is symmetrical with respect to the y-axis.
() B. lItis symmetrical with tespecttothex-axis—
) €. It is symmetrical with respect to the origin.
() D. The graph is not symmetrical.

() E. The graph is not a function.

Answers Yes

A. The domainis  (=o00,00) | Therangeis

(=00,3] [.(Type your answers in interval notation.)

A. [(6,0),(- 6,0),(0,3)?(Type an ordered pair. Use a comma to separate answers as needed.)

A. It is symmetrical with respect to the y-axis.

ID: 1.2.21

-\__5 = ~—~——-—\_\\‘_____ﬁ___'____ e
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12. Using the given graph of the function f, find the following. |

Ay
V (a) the intercepts, if any | ad
(b) its domain and range ' | P 1)
(c) the intervals on which it is increasing, decreasing, or constant A ‘) ) 2__ .{0" ) ﬁ"
(d) whether it is even, odd, or neither e’ / ! y‘ ¥ =
- 4 3 5 14

C\] d)zJ (fz_} ‘9/

o e __ %
(@) What are the l{eroap‘ts? )(—fw Les - ~Ja ij /QI VuN’ /
SO ez bz,

(Slmpllfy your answer. Type an ordered pair. Use a comma to separate answers as needed‘)\s- ﬂf_p i L(D Mo 5 A ’}

a (b) The@am)s ( =3 37 é‘e—_ [—/I// //)4/j " w( rj; N
~ (Type your answer in mterval notation.) g Z _€
QThe anggd’s ? é’a‘- (_‘40 A’) mj 71—6)%7 l L/
ofation.)

(Typeyour answer in mte al n

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes w/hm your ?

choice. /’éﬁ""‘l sTE

(O A. The graph §§'-|r-;reasmg on (/ O’I [Z 37 Snpel ’f

(Type your answer in interval notatton Use a comma to separate answers as needed.) 7

A\

(‘3—/‘ (.-,_-_.//

- ?}7 ™

(0 B. The graph is not increasing on any interval.

!_3/_,7 (o) 2

choice.

(O A. The graph is{decreasing on
(Type your an$wer-in ifiterval notation. LUse a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within

O A. The graph is constant on
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(d) The function is (1)

el N
) @ neither odd nor even. )
g
() even.

11 of 63 10/17/2019, 9:42 AM
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Answers (- 1,0),(2,0),(0,1)
[-33]
[0.1]

A. The graph is increasingon | [-1,0],[2,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on |[- 3, - 1],[0,2] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) neither odd nor even.

ID:1.3.25
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- L; me <
13. For the graph of a function y = f(x) shown to the right, find the absolute maximum Ay xé
and the absolute minimum, if they exist. Identify any local max:ma or IBGﬂLn'I‘IEIma 8 (5,7)
; (1.6)
= é, X (i /({ - 7 (7.6)
e { Yr”;/ Ce v}, 4]
/ “’ f);(/f ass / A Foabs{sa min
. ( )?? o) o ,.//} /,/ (3,2) x‘
@i o 0 A 8
\\“‘--.___ZZ(i{_L‘:);._—';(;—!—r_-;;r — g
Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice. “ /,- Su ’v K

O A ThQsolute maxrmuht of y =f(x) is f( }W )= 7 C){ ﬂ, 7 ) //)76‘ L

(Type integers or sit ssmphﬁed fractions.)

(_) B. There is no absolute maximum for y = f(x).
Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice. G l? 5 o / wlLf
o ey 9 N
< o (
O A. The{absolute minimum of y = f(x) is f( 3 )= »2 e (’5 )/ 4 ) “ ")
(Type integers or simplified fractions.)

(O B. There is no absolute minimum for y = f(x).

4

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice. Z P2 o
O A. Th@:al maxirp_gm_of}:f(x) is f( r ) = ’] 0}{ (/ 7/ W‘L

(Type intégers or simplified fractions.) X
O B. The local maxima of y = f(x) are f( ) = and

f( )=

(Use ascending order with respect to x. Type integers or simplified fractions.)
() €. There is no local maximum for y = f(x).
Select the correct answer below and, if necessary, fill in the answer boxes to complete your chaice. C & Cov /7

I ) . 2 - gl
O A T@Er;al minimUn';'ofy f(x) isf( 3 ) N 1 . C)/( //' / ) //)1 1

© B. The local minima of y = f(x) are f( J B and

i( )-

(Use ascending order with respect to x. Type integers or simplified fractions.)

C. There is no local minimum for y = f(x).

13 of 63 10/17/2019, 9:42 AM



finalm1314COC079sulllljjRZZ12E-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

Answers A. The absolute maximum of y =f(x) is f ( 5 ) = 7 .(Type integers or simplified fractions.)
A. The absolute minimum of y =f(x) is f ( 3 ) = 2 .(Type integers or simplified fractions.)
A. The local maximum of y = f(x) is f(‘ 5 ) = 7 |.(Type integers or simplified fractions.)
A. The local minimum of y =f(x) is f( 3 ] = 2 .(Type integers or simplified fractions.)

ID: 1.3.51
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14. Thefunction f is defined as follows.

-3x+4 ifx<1
f(x) =
2x—-1 if x=1

(a) Find the domain of the function.

(b) Locate any intercepts.

(¢) Graph the function.

(d) Based on the graph, find the range.

(a) The’domain &f the function f is

) & lw/f ¢ lyh L}
(Type your answer in interval notation.) -

(b) Locate any nferce /js Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The mtercept(s) is/are ‘{ ) P 1‘:1 A ey l/
(Type an ordered pair. lgse a. mma to separate answers as needed.)

() B. There are no intercepts.

(c) Choose the correct gr'_a_ph--lmlm!.l\".ﬁhh
’ , . TN . O D.

N, — ) - b b 7(“()/)
(d) Tﬁe rangé of the function f is [ [, OF ) & [ v ; (S R )
(Typ ranswer in interval notation.) 7

Answers (- 00,00) P "5)(49’ 1[ )(</
| oy |

A. The intercept(s) is/are | (0,4)
(Type an ordered pair. Use a comma to separate answers a Jg_eeded.)

(s ¢ m.‘ﬂ()w’ E— _7=m-.x

)
C ¢ / e (cHoc __.’_//

[1,00)

ID: 1.4.33

K

17 y /M:} LS / ’:/0 B ¢ = f&k Z/ -
é) pen/

\ A s (<) ot

\ _. <1
\ _{“/ﬁ e & (A2 Lo

Corcd|
B
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15.. /The graph of a function fis illustrated to the right. Use the graph of f as the first step Ay

toward graphing each of the following functions. 61

3]
@ FX) =f(x)+3 (b) G(x) =f(x + 3) (c) P(x)= - f(x) /—\

R X
1 X TTN 6

(d) HO) =f(x +2) -1 () Q) = f(x) ) g(x)=1(-x) / 3] \
(9) h(x) =f(2x) .

(a) Choose the correct graph of F(x) = f(x) + 3 below.

o e 7SN

(b) Choose the correct graph of G(x) = f(x + 3) below.

O A. ) B. o ¢ #&D.

&
Lo

=i

(c) Choose the correct graph of P(x) = = f(x) below.~

) A, ) B. ‘__'"F'/(;.

Qh /J— doy :

~——~D

Fy
Y

-
"~

1
(e) Choose the correct graph of Q(x) = Ef(x) below.
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Answers

ID: 1.5.63
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16.
(a) Graph f(x) = |x~ 3| - 4 using transformations.

(b) Find the area of the region bounded by f and the x-axis
that lies below the x-axis.

q (a) Graph f(x).

(Use the graphing tool provided to graph the function.)

(b) The area of the region bounded by f and the x-axis that
lies below the x-axis is | square units.
(Simplify your answer.)

Answers

ID: 1.5.81

19 of 63
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17.
Suppose that a company has just purchased a new
computer for $3600. The company chooses to depreciate
using the straight-line method for 6 years.
(0)
(a) Write a linear function that expresses the book value of
the computer as a function of its age.
V(x) = s ‘
(Type your answer in slope intercept form.) 3 b
(b) What is the implied domain of the function found in part % 2400 "
(a)? e N
[<} b
® X
—_—— \
(Type your answer in interval notation.) 1200-
(c) Use the graphing tool to graph the linear equation.
(d) What is the book value of the computer after 5 years? | Vil
J ] N
(Round to the nearest dollar as needed.) 0 i 2 3 A 5 % '
(e) When will the computer be worth $2400? / Age (years)
Ao EQudin af(t%ﬂr /://TI Zq{‘wo /%"1 4 m&}“ 6 C))
year(s).the compu er will-be worth™ ﬁ
$2400. ¥ __,,’ L/( (0 350/) M [5 U
(Type a whole number.) ] X L Z_
] r::s‘ U 2 )
Answers - 600x + 3600 j {260J/ OL’_,) ( /(A/ {0)
08 O )—(6)
’ ? 6 - _ 3 G ) - g > (4/__ ¢ n)
T R oo =~ @ .
4800+ ] g ( C L)( /
4 =25 < =7 )
9 —360>= TGouX
36004 _ R = s R g
] Y— 3600+ 3600 = ~E0A1IE0>
I ~ —_—
] U= EhG e P
3 24004 O_ 600 A ~ S§o0 \
] — e
= .
@
1200
0 T T T T ; b4 : >
0 1 2 3 4 5 6 I 8 X
Age (years)
600
2
ID: 2.1.51
CESSEE s N ﬂf—\_/\
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X(rto) T2y =<
18. Find thizirosyéf the following quadr?nc functfo&b\factonng ‘What are the x-intercepts of the graph of the function?
) — e :
(X)—X(X+10)+24 /( T/'«-— '7‘/ | \-___
"7‘) (exa 1 6) =

Select the correct choice below and fill in the answér box to complete your choice.
(Simplify your answer. Use a comma to separate answers as needed ) -

= X76 =<

The zeros and the x-lntercepts are/ different. The zeros are , the x-intercepts
ok E =t A s o7 )(’fu/ 6=
() B. The zeros and the x—mlercepts are the same. They are 1/( K /{/

=

Answer: B. The zeros and the x-intercepts are the same. They are -4,-6 |

ID: 2.3.23

== = P —

T — —— ~ e ———
—_—

i
19. Find thie zeros pf the quadratic function using !he@g@ root metho} What are the X- mtercepts of the graph of the

.

funcnp? = (:l//"—f) ___/(1 "__O \\.

2
9= (x-1)° - 16 (-/,p./) /6 yewik
Select the correct choice below and fill in the answer box to complete your choice.

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

separate answers as needed.) ( / ¢
t

The zeros and the x-intercepts ar d ifferent. The zeros are , the x-intercepts

OB are : (_f/ - —Y ax {“‘l:(é/

Answer: A. The zeros and the x-intercepts are the same. They are | 5,-3 A

(3 A. The zeros and the x-intercepts are the s me. They are

4

ID: 2.3.29
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Fa Zx 7% X T

5 ¢ -3 -
4 : /’(/ a=< I_) =70 . 6 =9
20. Find th@ros. if any, of the quadratlc fun ion using thequadratic formula: What are the x-intercepts, if any, of the graph

°“Eef"rf‘_’“°"? C !/ =bF 7 Fac W(/o)q/;_—w (’z)@) ~ 0 2700 —72 10?VZE

_w-' m—

C t;&-l, L~
L =22 494 10x . LR 2(2) </ G

R

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

separate answers as needed.) b “/V'f'{ /?, a

() A. The zeros and the x-intercepts are the same. They are s Y
. The zeros and the x-intercepts are different. The zeros are , the x-intercepts = ~{(3 'EVF J
C B. are . Y
() €. There is no real zero solution and no x-intercept. Q + 2 %
_ o
-5+ = i S
Answer: A. The zeros and the x—lntarcepts are the same. They are ‘/_ 2 «/_ . = Q ~£ STV )
--rlf} ™ » - __;2(_12
ID: 2.3.47 ""“'7 .S. =
<. > o

T e —
21. Find the@ of the function. What are th@ of the graph of the function?
gix)=x+34x =18

Select the correct choice below and fill in the answer box to complete your choice.

() A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

) B.

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

Answer: A. The zeros and the x-intercepts are the same. They are _;' 9

D:23.75 At {%3(/‘r~/5f0 .

Je
(W
—( 5= —3/% ZK_, R Sikn * 7

4 g@(\ww ¥ il

(v~18)= (37, o
mﬂvukf/wé<’/(/7

{[~3<(f}ﬁy‘?q_“ 3
X'?-—d'ﬁé)(”’f 32y — G X = C_/
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(D, R FED

CAfQ[C
X~ 3 —17 = °

(a) + 3V ~(7 70
G 438 ~AF= Y

G ar T §< @

(314 =©
O':“() &vﬂd{ —
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= sz}U A/ 221 =—~C
mndlanyg an{imethod you wish“What are the x-intercepts, if any, of the graph of

NV 0D 7 8 /GTE FIO

G(x)=10x" - 7x- 12 = ' 2 ‘o) >
Select the correct choice below hﬁﬁﬁn the answer box to complete your choice. _ - e
= | Hf 29
'y A. The zeros and the x-intercepts are the same. They are 2 2 3
e
The zeros and the x-intercepts are different. The zeros are , the x~|ntercepts ._-7-—-———-
OB. e 22

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

’ 43 | 2 o —lL
Answer: A. The zeros and the x-intercepts are the same. They are = = /Q & =z
d yare 52 ’( - 2o '{ X 20

(L #7 SIe

ID: 2.3.81

—

23. Find thé&a}’z_e@d the quadratic function using an
the function /

w o= (" +((~

ethod you wish\ What are

2

f(x)=x"+x-3 d,l b,/ Co -3

Select the correct choice below and fill in the answer box to complete your choice. = EA v
= . /
form
) A. The zeros and the x-intercepts are the same. They are
. The zeros and the x-intercepts are different. The zeros are , the x-intercepts
) B.
- are

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

Answer: A. The zeros and the x-intercepts are the same. They are 1 "'2‘/6 , L ;m .
. ‘ = e >
Y=-(1) £ (Jrt) =5 (O3

iD: 2.3.87 ) ZCf)

/{/< "M

e
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24,
Graph the function f(x) = - X2 +10x by starting with the

graph of y = x> and using transformations (shifting,
. stretching/compressing, and/or reflecting).
Vé Use the graphing tool to graph the function.
T M re
-aM/L( S '~ 7 }
Slpecdy niyht ek
3 /5 o A /) v

OCe N ‘9“) “”‘”g{[

ID: 2.4.29

(5t
' C—/CH/&,*(V’

e Z

%. — X —f/(/)()
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( ’1){ , . , 2 Ay

k\_/ For the quadratic function f(x) = x™ + 4x — 12, answer parts (a) 20-
ough (c). '
164
(a) Graph the quadratic function by determining whether its 12_'
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any. 3
Does the graph of f open up or down? 4
§ X

down 20 16 12 8 -4 1 4 8 12 16 20
up 1t
What are the coordinates of the vertex? "8'-_
2=
The vertex of the parabola is ]
(Type an ordered pair. Use integers or fractlons for any 16+
numbers in the expression.) 2(‘;

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.
What is the y-intercept? Select the correct choice below and, if

necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis |
(Type your answer in interval notatlon )

The range of fis |
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

26 of 63 10/17/2019, 9:42 AM
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Answers up

(-2,-16) X iy
Si M #"9) g’,ﬁwc:/ Nish-f- 5

xS 18 (¢ 0N )

ez | o Y 4 )
A. The x-intercept(s) is/are | -6,2 79 A 2 3 ¢ e
(Type an integer or a decimal. Use a comma to separate answers as needed.) e wj'x
A. The y-intercept is " ~-12 '[.(Type an integer or a decimal.) = )

A — 7.
=

16

L i
(0,At) 9l
-1 ,:9 U 5¢
. V):"A ‘:\/‘j"i_ — j/ca?/‘n(
. N =min = —~(& \ C el
Co [ pex = (R .
D:24.37 20
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26.
_For the quadratic function f(x) = — 2x% +2x - 2, answer parts 10 id
(a) through (c). Verify the results using a graphing utility. ]
8]
(a) Graph the quadratic function by determining whether its 5_:
graph opens up or down and by finding its vertex, axis of ]
symmetry, y-intercept, and x-intercepts, if any. 1—
pu
The graph offopens (1) | x
r—r-r—r;:v r‘f‘]"‘l'l'l_‘rl'rl"‘{‘_flq TTT T Y E RN 2
The vertex of fis . do IR RS TR RNE B C AL AL AL T
(Type an ordered pair.) '2“:
The axis of symmetry is I
(Type an equation. Simplify your answer) -6
Determine the y-intercept. Select the correct choice below -8
and, if necessary, fill in the answer box to complete your i
choice. -10-

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Determine the x-intercept(s). Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal rounded
to two decimal places as needed. Use a
comma to separate answers as
needed.)

B. There is no x-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is
(Type your answer in interval notatlon )

The range of fis
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it
is decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

The function is decreasing on the interval
(Type your answer in interval notation.)
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(1)  down.
) up.

Answers (1) down.

-3

K
X=3

A. The y-intercept is ] -2

B. There is no x-intercept.

;.(Type an integer or a decimal.)

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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(bt € ) @

& Determane«iha‘quadratlc fummmﬁn The quadratic function which describes the glven graph is
~__below. s s f(x) = i
- V.y_-;,{rk /% \)) 6\('{ ?.) > /) pe an expression j /(//2’) =
?'iﬂ(zl,:’s) ‘ Snen (0/ Vst [ ol x—e) (£ )~ -
Pl ] :7 /(}( L_Z)(,.Z)(’f‘/)
7 /(/(c_z(,(»fv//f
10 : j X sy xX*Y =6
ey
0 / 10+
. ’ f?fx--w-fﬂ -
Y —n Luert & 20-

Answer: 42 _ 4. _ 1

ID: 2.4.49

/(/ -ZX —fay(-y NSo L Aas

/ Determine, t@; &. ether the glven quadratlc fun on has a@ value or a minimum value and th find
the value. [_" (\{v + }‘S A1 _}0 T8 < DV’G%‘Z Uﬂ&di Ubga

f(x)— -2x +8x 4

() The function f has a minimum value.

Does the quadratic function f have a mlnlrnum v ue or ar x.tfnum valua? pﬁf’[/‘{ == /___é__
—_ 2 «
(4 ><)

() The function f has a maximum value. Vt’ L
i

What is this minimum or maximum value? /._(,8,) //‘.f_ﬂ
et -

| | g AL-t) A~ )
(Simplify your answer.) (/'{/ o~ -9 / .
= 7C £)

Answers The function f has a maximum value.

4 hix = 2, /fz ))
ID: 2.4.59 Ly - (Z; ~2(2) CL ) - L/.> _\ Y
b - (7, ~22 X + 81 -9 ) u’[ ¢
Verla, - (2, ~¢ rv) + Y —¢
Vel L2 =T A ~y )
Vedi=f2, F-v/

A,
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29. Construct a polynomial function that might have the given graph.

i ) (i hnes)
(2:’:8:(2)2()(4;“*‘%] @ z /( € ) (rs) }(//

O C. ) =x2(x+2)(x +4) PN

O D. fx)=x(x-2)(x-4)

2 - h : - ‘\ =
USe SFephiag ,
Answer: B. f(x) = x(x + 2)(x + 4) < '

C_ (_'./ (M(qu?/

ID: 3.1.73 e

Choose the correct answer below:

74(/:” /l/()(iFZ)()({f"S/) — o
TOD ol AF7 =0 od Ar¢ ==
Q_,/ Ae7 —¢ Zo—T OA- Ao (,/ =g~

(0, 0) (=2, 0) (<% ©)

C s
(-

—~

(--*7 o) y (7 0) (d) 7 )
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30. Analyze the polynomial function f(x) = (x + 1)(x = 5)(x + 6) using parts (a) through (e).
(a) Determine the end behavior of the graph of the function.
The graph of f behaves like y = ' for large values of |x|.
(b) Find the x- and y-intercepts of the graph of the function.

The x-intercept(s) is/are |
(Simplify your answer. Type an integer or a fraction. Use a comma to separate answers as needed. Type each answer only
once.)

The y-intercept is
(Simplify your answer. Type an mteger or a fraction.)

(c) Determine the zeros of the function and their multiplicity. Use this information to determine whether the graph crosses
or touches the x-axis at each x-intercept.

The zero(s) of fis/are | L
(Simplify your answer. Type an integer or a fraction. Use a comma to separate answers as needed. Type each answer only
once.)

The least zero is a zero of multiplicity ,sothegraphoff (1) | the x-axis at

X=| . The middle zero is a zero of multiplicity , so the graph of f (2) — Ithe
x-axis at x = | . The greatest zero is a zero of multiplicity | so the graph of f

— ) _+
@) thex-axisatx=| . (rb [/ 0/(/-“

1L

//,( (/(r/)(x’ 5)(//‘( f
(1) crosses (2) ) crosses 3) crosses

) touches | ) touches touchz / ()(.-f / j (/( 5 )(A// é}
Gy <loce 1 ) pms Wee) = &<
=0 O x5 To I Ko € -
(Al{—[=o—( on gfsrszorys oL xrl(—6=< L7606
A= ok 1=y ot (¥ =-6
S Gho) at (s5,0) 0t (<
32 0f63 K{’_ 6 O) 0& ( / 9 ) J/L (S 9 ) 10/17/2019, 9:42 AM
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Answers ,3

-1,5,-6
-30
-15,-6

1

(1) crosses
-6

1

(2) crosses
-1

1

(3) crosses

ID: 3.1.89
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31. Analyze the polynomial function f(x) = x - x3. Answer parts (a) through (e). [Hint:-First-factor the pplynomi /

(a) Determine the end behavior of the graph of the function fr"' 1 5'/(/1,» ]
— A L
The graph of f behaves like y = for large values of/|x|. X—Mex z [

(b) Find the x- and y-intercepts of the graph of the function. “) - g -— =i

— o=
The x-intercept(s) is/are | fj mex =2/ D #
(Type an integer or a S|mpI|f' ed fraction. Use a comma to separate answers aS‘needed*Type each-answer only once.) ™

/Cl “1 S . ‘
The y-intercept i is| W 5¢ j / 5 6j(’ 3\)
(Type an integer or a simplified fractlon ) C d ( G / (/L(,» ) / )( / /\/ _F
(c) Determine the zeros of the function and their: multlpllcny Use this mformahnnto determine whether the. g[aph crosses

or touches the x-axis at each x-intercept. -

The zero(s) of fis/are | L (7 = )( o - X "’f'/j

(Type an integer or a simplified fraction. Use a comma to separafe answers as needed. Type each answer only once.)

The smallest zero is a zero of multiplicity ,sothegraphoff (1)._____ | the x-axis at

X= . The middle zero is a zero of multiplicity i, sothegraphoff (2)______ ' the

x-a)_(is atx=| _ . The largest zero is a zero of multiplicity | |, so the graph of f
3) —I the x-axis at x =

(d) Determine the maximum number of turning points on the graph of the function.

The graph of the function will have at most | turning points.

(e) Use the information in parts (a) through (d) to draw-a complete graph of the function. Choose the correct graph below.

(1) O touches (2) touches (3) (U touches
() crosses crosses () crosses

r?\//: /»/3:;' (( 0/ /CJ o) (/ u)
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Answers _,3
-1,01
0
-1,0,1
1
(1) crosses
-1
1
(2) crosses
0
1

(3) crosses

ID: 3.1.113

350f63
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L /?‘;r,.)(c.-_z_ c \Q( 0)(9 %), fsja)

360f63 -

y=0) 0%

(a) Determine the end behavior of the graph of the function.

j‘/@;ﬂ/i h;—:)
Q!

The graph of f behaves like y = for large values of |x|. \

)( —Mu - 1 )\

\7/-/;7 1 -~ W "L!w )

‘7/}4‘14)4 = M %O’l T

rs as needed. Type eac/rg,answer only once.)
a—

(b) Find the x- and y-intercepts of the graph of the function.

The x-intercept(s) is/are |
(Type an integer or a simplified fraction. Use a comma to separate an

The y-intercept is |

-- —3
‘ %
(Type an integer or a simplified fractlon ) /[{Q / - )( . Z’( —F X

(c) Determine the zeros of the function and their multiplicity. Use th|s mformat|on to determine whether the graph crosses
or touches the x-axis at each x-intercept. 3 B
- -3 5
The zero(s) of f is/are q I )( -fJ Z/\/ j

(Type an integer or a simplified fraction. Use a comma to separate answers as needed. Type each answer only once.) ™ £

e

The smallest zero is of multiplicity ,sothegraphoff (1) |the x-axisatx=

The middle zero is of multiplicity | ,sothegraphoff 2)._____ thex-axisatx=

The largest zero is of multiplicity | ,sothegraphoff 3y .| the x-axis at x=|
(d) Determine the maximum number of turning points on the graph of the function.

The graph of the function will have at most ' ' turning points.

(e) Use the above information to draw a complete graph of the function by hand. Choose the correct graph below.

A, B.

(1) crosses (2) touches 3) crosses

touches crosses touches %
-

/(( X .4’- LY —5¢ ) B ==
X (X =5)X+7) ~
-5 = O on )OO
gt f-s+x =7 OA X+7-7°97 7/

CEP A QLA
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Answers ,3

=705

-7,05

1

(1) crosses
-7

1

(2) crosses
0

1

(3) crosses

ID: 3.1.116
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33. Usethe eorerir ﬁn/ alltrle al Z ofthe polynomial funct;on Use the zeros to factor f over the real
numbers: ¥ G —1% = Legt 4~
TOX '“l n” & ' ,/.r-.j ) = ¢
f00=x>+3x2 - 13x=15 / 2 ~[5 C(‘f Pliew

e Fmd the real zeros-of f. Select the cnrrect choicq below ang,if necassé[ fill in the answer box to complete your answer,
/41‘4 et v =i TS, T, T
)(’ VI om - ' ) J g
— 1A= X "f’ ?,K '—'[ r - ’ + (

(Simplify your answer. Type an exact a:t\;er usin radrcalsi as needed. Use integers or
fractions for any rational numbers in theyexpression’ Use a comma to separate answers as ™~ / b ¢ 1 3 f 7

needed.) W 05

) B. There are no real zeros. (/< "'_3\ C)( 7 5) = Q’ﬁ "/ z S/ + 7 f f‘
X=3 =0 Ort X+y M"

= =S5

K3+ bzwr? OL XL Z©

(=] | En L ==

(Simplify your answer. Type your answer in fat red___un.Jype an exact answer, using radicals as needed Use integers

or fractions for any rational numbers in the expression.)

Use the real zeros to factor f.

Answers A. x=| -5, -1,3

(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any
rational numbers in the expression. Use a comma to separate answers as needed.)

(x+ 1)(x + 5)(x - 3) A 7St »J

ID: 3.2.45 ;—' / 3 il : J\

x2—12x+40 0 a,[) é, il = yy
The solution set is { ' } (Use a comma to separate answers as neede - ""\
Answer:6-2i 6+2i ﬂ;‘ }7+0 "‘/{'( (}:4’ ({/ -:{ ’/.'
=

e

ID: 3.3.2 /_ ,(__” @_{ ?‘MJ&M

2 (1)

Yo (LY rr—rseo
2
V= 1220 =76
2z
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35 Fmd thw;: of the following pol Iynomial function. Write f in factored form.
2Z2)l -6 2z -~

emg:com/apily1/prin/math

f(x)=x —6x +21x-26 ___2 . & g )
The complex zeros of f are l L2 @)) Lo / /j 237 ‘:‘.-_c-;—;’—
(Simplify your answer. Type an exact answer, ;};ﬂg radi¢als and i a needed. Use integers or frac::tti%ns for any numbers in
the expression. Use a comma to separate ansWgers as eded.) & o ey A
P P \ﬂ__f&‘q_ Hr;(-

=
Use the complex-zergs to factor f. [)( — Q/)( "f“/g R
UQ(’ 5)’?,@;4 Lo e Cs/3 /{~§’175_4

| L/ e
(Type your answer in factored form. Type an exgct answer, I/ sing radicals and i ag‘needed. Use integers or fractions for

any numbers in the expression.) ’( —q) %_T_-( )/l ,5)/ * - / ~+ (/(

Answers 22-3i,2+31i S (1

aﬂ)vl'/ X-2)(x-2+3i)x-2-31i) /{/ é’__:@

[ 3%, 2341
j%;.%jz‘ 3/{)/ /{/: ‘/Z’V—W

-

oA

—_— = —

3 ind the vertice énzontal.fénd bllque isymptotes, if any, for the following rational functior
e —_ eSS f/..l,(cf// a s /}/’f '/(
ix A AT “V
R(X)= —— -3 L
x+8 / -
A

Y1= 78 /d,.._y

Select the correct choice below and fill in any answer boxes within’ your cholce

) A. The vertical asymptote(s) is/are x = .
(Use a comma to separate answers as needed.) / _"

() B. There is no vertical asymptote.
Select the correct choice below and fill in any answer boxes within your choice. / 5":

__,/70';/-Z-uaf—_{

) A. The horizontal asymptote(s) is/are y =
(Use a comma to separate answers as needed.)

) B. There is no horizontal asymptote. G 5 [/ V"/ é P
P
Select the correct choice below and fill in any answer boxes within your choice. e
O A. The oblique asymptote(s) is/are y =
(Use a comma to separate answers as needed.)
() B. There is no oblique asymptote.
Answers A. The vertical asymptote(s) is/are x = -8 :.(Use a comma to separate answers as needed.) C/7
A. The horizontal asymptote(s) is/are y = i 15 .(Use a comma to segajate answers-asneeded.). e

B. There is no oblique asymptote.

/ocy/ /’f)‘{u/ K)W v 7
}%r Moy —fhen—A et
rs mo LA on

\(]Zn/;é/c “ 57 *‘/LOZ( ‘f_,_‘

39 0f 63 #__,.mmrzmﬂ 42 AM
P S )

- - — -

_/V;C{ /]( 4,554 /JJLL’» Jﬂ/ )

ID: 3.4.45
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37. For f(x)=3x + 2 and g(x) = 9x, find the following composite functions and state the domain of each.

fog (b) gof (c) fof (d) gog

' (@) (fog)(x) = ' ' (Simplify your answer.)

7o
P

Select the correct choice below and fill in any answer boxes witﬁip‘_yoyr choice.

O A.

O B.

The domain of fo gis {x | ).
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

The domain of f o g is all real numbers.

g; () (@of(x) = | (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

40 of 63

A.

The domain of g o fis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

The domain of g o f is all real numbers.

(c) (fof)(x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

O A.

The domain of fo fis {x | }
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

The domain of f o fis all real numbers.

(d) (gog)x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

A.

The domain of gogis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

The domain of g o g is all real numbers.

Answers 27x +2

B. The domain of f o g is all real numbers.
27x+18

B. The domain of g o fis all real numbers.
9x+8

B. The domain of f o f is all real numbers.
81x

B. The domain of g o g is all real numbers.

10/17/2019, 9:42 AM
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ID: 4.1.23

,/7,75;?’5&—

O //X/CX#Z\ fv/ G(4)T 7x
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/o A

F

§
he function f(x) = 4x + 2 is one-to-one. Ay
(a) Find the inverse of f and check the answer. 20
‘ (b) Find the domain and the range of fand f~ ' 16
Graph f, f~ 1, and y = x on the same coordinate axes. 4 :
-1 a4
@f = ]
(Simplify your answer. Use integers or fractions for any 4
numbers in the expression.) 5 X
_ _ . . 20 -6 42 8 -4 1 4 8 12 16 20
(b) Find the domain of f. Select the correct choice below and, if 4
necessary, fill in the answer box to complete your choice. ]
-6
©) A The domain is {x|x2 }. 42
() B. The domain is {x|x= 3 461
(7 €. The domain is {x|x # 3 51

(1 D. The domain is the set of all real

- numbers. . %,;// , (/ L

Find the range of f. Select the correct choice below and, if . K/)/ 1 A / \/ 4 // \
necessary, fill in the answer box to complete your choice. F 4 ,{ b) a g N ’ \

' A. Therangeis {yly# }. )( Lfy 71
(0 B. The range is {y|y2 } )(,,,/L -G 7{ A SO /?1' e

() C. Therangeis {y|y$ }

() D. The range is the set of all real numbers. | }< B Z_ = é/j

Find the domain of f L . Select the correct choice below and, if

necessary, fill in the answer box to complete your choice. )/ — ¢ X o i
A. The domain is {x|x 2 T
B. The domain is {x|x # }.
C. The domain is {x|x= 3
D. The domain is the set of all real

numbers.

Find the range of f 1. Select the correct choice below and, ‘f‘_
necessary, fill in the answer box to complete your choice. -

" A. Therange is {y|yS } ‘
B. Therangeis {nyZ - } (“
C. Therangeis {yly* }. 4

D. Therange is the set of all real numbers.

(c) Graph f, f~ 1 , and y =x on the same coordinate axes. Use ™
the graphing tool to graph the functions.

43 of 63 10/17/2019, 9:42 AM
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)

x—-2
4

Answers

D. The domain is the set of all real numbers.
D. The range is the set of all real numbers.
D. The domain is the set of all real numbers.

D. The range is the set of all real numbpf's. s ‘;f"

ID: 4.2.53

e T = e
L?'QT Solve the equation. ( 29 XA '}f ( ) V( W/‘ L
167X+ 27 = 3%

The solution set is { {}. ‘

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)
. —¢XA /0T 5K
Answer: 12 N V i /0 d/'“ /U’d" = £ ‘f/ — D d édl—-\ /W ><
ID: 4.3.73 Y x - Sx —/0 ! ( // e
— - ——2! #x b
Yy X = X —/orTs AT

| B .__ f z_a:, / }2'
—9X - \f‘f ccifi(_/"

G -~ 2 2
”’:E]"_ —9 LG {(/

L/"./ I\(_ (L

&)( =¥ | Z/) (@J
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40. If a single pane of glass obliterates 4% of the light passing through it, the percent p of light that passes through n
successive panes is given approximately by the function below.

p(n) = 100(0.96)"

(a) What percent of light will pass through 5 panes? ———
(b) What percent of light will pass through 15 panes? /

(c) Explain the meaning of the base 0.96 in this problem.
[FXa my / ¢ \

(A(/([ ‘V,L("e’\‘

(a) The percent of light that will pass through 5 panes is approximately %.
(Round to the nearest whole number as needed.)

(a) The percent of light that will pass through 15 panes is approximately [ %,

; \
(Round to the nearest whole number as needed.) 0/) / / ;. ey LJ() \
(c) Choose the correct answer below. /4
Can CaA /
() A. Each pane allows only 0.04% of light to pass through. / . /
) B. Each pane allows only 4% of light to pass through. }/' ( VPI ‘s o fi /,-

(") €. Each pane allows only 0.96% of light to pass through

a /p/t cehyog

Answers 82 ¥ —

(75‘ D. Each pane ne allows only 96% of light to pass through

54

D. Each pane allows only 96% of light to pass through. = —_— ) T

ID: 4.3.105

ﬂ%>~wwﬁﬁw4f

(/”(f) fz ﬁou

VOE /Oﬂ”aﬂ“
/(/.5,): g§/ ZOY(377?

P— /
rs) = s 44/&“"“
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41. The price p, in dollars, of a specific car that is x years old is modeled by the function below.

p(x) = 22,275(0.89)"

(a) How much should a 5-year-old car cost?
(b) How much should a 7-year-old car cost?
(c) Explain the meaning of the base 0.89 in this problem.

(a) A 5-year-old car should cost approximately $|
(Round to the nearest whole number as needed.)

(b) A 7-year-old car should cost approximately $ L
(Round to the nearest whole number as needed.)

(c) Choose the correct answer below.

(O A. As each year passes, the car is worth 11% of its value the previous year.

( (@rB. As each year passes, the car is worth 89% of its value the previous year.

() €. As each year passes, the car is worih 0.11% of its value the previous year. ~

(O D. As each year passes, the car is worth 0.89% of its value the previous year.

Answers 12,438

9,853 w ks ¢ s

B. As each year pasies the car is worth 89% of its value the previous : = [ j
5” . j
/

/x’/ ZZZ?f/(, /)
L= Wﬁr(@?ﬁﬂg ",
s ) " F[LEIHFT Ly oy )
S XL// _..(
/(S)’ﬁ/ZVZY ,E\M
a /( 7) lz 271 (0 7)) B
'/)('7) = q)é’.s-,s f' >y (duw(

ID: 4.3.107
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< o \
3
42, The percentage of pattents P.who haye survived t years after initial diagnosis of a certain disease is modeled by the

function P(t) = 100(0.3)". /

(a) According to the model, what percent of patients survive 1 year after initial diagnosis? } ( = “‘-\'«H_‘
(b) What percent of patients survive 2 years after initial diagnosis?
(c) Explain the meaning of the base 0.3 in the context of this problem. ? //a
(a) According to the model, | % of patients survive 1 year after initial diagnosis. ( C/ ‘L }J /
e ~
-~
L

(Type an integer or a decimal.)

(b) According to the model, % of patients survive 2 years after initial diagnosis. h ’
(Type an integer or a decimal.)

(c) Explain the meaning of the base 0.3 in the context of this problem. Select the correct choice below and fill in the-answer

box to complete your choice. /?// - /O(’) /& . )/) [7'( A i»”ﬁ’(( S %“\\,\

iL

() A. As each year passes, % of the previous year's survivors have survived. /’ G 7/‘” it 4
) C &

() B. Aseach year passes, % of the previous survivors take the diagnosis. Z/ Nad Can .

(0 C. Aseach year passes, % of the total patients have survived.

e (1) =c0e(0. 5)"‘/1 [ (R) = /00(U- )
P30 ] = § =

A. As each ear passes, 30 ‘32) of the previous year's survivors have sunvived. gf& s 2 7(79‘ 7 J
ID: 4.3.109 B e

= TR f—'?‘ 1‘1
43. The function

D(h)=7e =% D("\/ - 76

can be used to find the number of milligrams D of a certa ug th;t is,in a %uent‘sb

u s (A \
ol /

e (¢- [k

am h hours aﬁer the dE

has been administered. How many milligrams will be pre r1 hour‘?! After 9 hours?

Afte'::r 1/h&ur, there will be | milligrams. (Round to two deC|maI places as needed.)

Wurs. there will be milligrams. (Round to two decimal places as needed.)

Answers 3.96 D( = /i (”" 7 ( ( ))
D) = 3 73 j6 7007 )

O&
T

P — -—

D)= 7 = (-0-57())
DO/ = 0’ T 57 233 5

D)= Loz fous

47 of 63 772
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44. Determine the domain of f(x) = log 5 (x + 6).

Choose the correct answer below. AA )( 7L 6 > O

LA // —&

O 6 Y62 O

) (0,00)

) (= o0,00) o -

O (-snm) p } L

Answer: (- 6,00) ._.() %

ID: 4.4.10 <(6) M__)__,Hr* %_ _

_ U7 rEf{

45. Change the exponential statement to an equivalent statement involving a logarithm. C_/( 75 /ﬁn A A.?’_

eX=20 g{(‘”"/ /%/Zd) W laf)~

The equivalent logarithmic statement is | . (Type an equation.) /( ﬁ,l (? / /Z / Z o

Answer: x = In 20 ("' o /ZU
(_)ow\/{ |/(/ éb%(zg) P

@z 776 OK (@77_;3&7‘/ =

46. Find the domain of the flinjt’lcirl AN )(7,, f'> < %f Mw{ \\\
h(x)=In(x+8) - K‘"fd &)’)0/— " :

The domain of his | l . ,{/ / /éd / \

(Type your answer in interval notation.) ( )( 7 g o 5{/ — //_'))(_,67
o — - _‘ﬁ"“"--x. u/.' S o

Answer: (- 8,00) -H,/ v AN A)(._f)j >U

e C{—-?ﬁ%/ — .

47.. Find the domain of the function. — )( C >

f(x)=6-2|ogs[§—6]/ é /G/>L’ Py

The domain of fis | | )( ,
(Type your answer in interval notation.) > 6

Answer: (12,00) Z &’f > Z ({) Mh/%

ID: 4.4.43 @ﬁz_ T

e ! 3

) (u: (/4)({:4’,)\
Ak /JWE T )

19;

\!
5
=]

A J'\.I"l_—‘—\

=
\l!

48 of 63 H0H
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48, Sol__"‘ll-i'laequation. [O/Z ({(r—/’f) - S”

log,(8x+5)=5
ji r
Change the given logarithmic equation to exponential form. Z j - g /( —_+ 5 r{ W )

| 2222 U< ~s

(Type an equation. Do not simplify.)

The solution set is { b 37 = I CEY
(Simplify your answer. Use a comma to separate answers as needed.) ; ( -5 = / X‘—"
Answers gy 4 5 = 25 27 - 5X
T 2Ll Ix

ID: 4.4.91-Setup & Solve Z

49. Solve the following equation. Write the answer in terms of the natuW

e™=5 /Z/,((J"") é 7<)/
The solution set is {'_ } 7‘(_,61(67/ ./{H//

(Type an exact answer in simplified form. Use integers or fractions for any numbers in the exprassmn Use a comma to
separate answers as needed.)

Answer: In 5

7

ID: 4.4.101

e ———— e

50. Solve the equation. Write the answer in terms of the natural logarithm.

I
e3""“=e

(:7 3J¢’r'-f C /-7
The solution set is { . ,é., ( )= ’[ n /e /

(Type an exact answer in simplified form. Us integers or frawons for any numbers in the expression. Use a comma to

separate answers as needed.) f, X+ / /,,, [(-’ [ <M / 6 ) A
Answer: Ing -4 (j x/rf‘-f’/ (// Z /(/ /C)K

I Kr¥ = /ﬂ /5/
ID: 4.4.103 3 Xtf T/‘é i) - “(,

3/\/’?/-4/5’/" ‘ // _

,:!Jii - ﬁ,/ )~/
%[%(f/-—?} 3/

10/17/2019, 9:42 AM
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S
51. Solve the equation. Write the answer in terms of the natural lugaﬂthm — i 5

¥ YR
mﬁ,/ﬁ(@a;&/ . 2 //-;r)

comma to separate answers as needed.)

5¢05% =14

The solution set is
(Type an exact answer. Simpilify your answer,

O $X _bor (€ - é?/’”’/ i
Answer: Inoi.S e S”J( (/!) - f\ /[_‘//
| L M (42) =2 05723535
ID: 4.4.109 ’%"f{z 35 e & 2__«:’;5‘; fd‘-...(

——— e ———

—-6"-:3'_ ——

52. Solve the equation. Write the answer in terms of the

The solution set |s{ a _} s -

(Type an exact answer in simplified form. Use a comm o ers as needecQ =
- oy

R -
/Answer /_ ;‘//{f \/S-
2—log 2

s
j ID: 4.4.111 /& o

(2- K)(i)
Z~X < (uj/ /57
) Z )CF{ ZU) //r —~{.

‘)( CU;/ /

Z )( /@w [1//

| lA(13)

a
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53. Suppose thatG(x) = log 4(2x +2) - 3. Z‘/(”‘(/l ”é oo ( = c{_,)p'?c “\ \

(a) What is the domain of G? X >l ¥ »ﬂ*} Co‘; (Ax18)
(b) What is G(7)? What point is on the graph of G? 2 A ~C '—H - 7
(c) If G(x) =2, what is x? What point is on the graph of G? L 3 s s 544 A’((ﬂ -?'w‘
(d) What is the zero of G? .- -
“, 4‘0) I

. (Type your answer-inminterval notation’ : —— - i_
1)< G, [2¢ T?)’—TM (g,) //Y+ 2) -3
The point | 'is on the graph hored yp;ganordared palr) (C'j y//éj f
(€) If G(x)=2, then x =/ - _ X = wg( 7 /)

(a) The domain of G is |

(b) G(7) =

= et - (%)~ 3
The point | [is g\r\a'y:’;\ of G. (Type an ordered _p Y . A ('u
C ) Loy (W+D-5=2 :Z-_())fS

(d) The zero of G is x #

Answers (- 1,00) 4 Li'}?’ /ZX_"Z'J!}/ : ;____#_’:_ % (23('7‘ 2/ "}
-1 ¥ = ' \ 5. -
7.-1) 2y @2// . 5 ( Z)HU
, & . et | \ ==
511 / ?yle'fi - ? .' "Z 2)(“1‘1— 6/(’:2"{
613 i/ e Ler B =KD i S
3 JL02y T 2Krt 3 Y o= Lt

;'UZ v~/ = Z)C—/ﬂ AN 6 Y- L+ L
ID:44113 (| /U220 — {x = ” 6(~2 T 7)(_{/27(
- _____ v - é_Z *—Z__’_{';__‘;_;—‘

-_—4—»-"'-'.___." : < = —— "
54. The atmospheric pressure p on a balloon or an aircraft decreases with increasing height. This pressure, measi
millimeters of mercury, is related to the height h (in kilometers) above sea level by the fon@p =760e "0 o /e \
- > '
TG = 169C g prr
5 Zc - 766 C >

(a) Find the height of an aircraft if the atmospheric pressureis 329}nillimeters of mercury.

The height of the aircraft is | : | kilometers. (Round to two decimal places.)

%o

(b) Find the he:ght of a mountam if the atmospheric pressur is 526 rmlllrneters of mergtry. ~O/Y5 ‘f
r—t” ™ S‘ > _.J
The helght of the mountain is | | kll?mete/rs (Ro Wdéa_- al places.) “Z6o ﬁq < ¥F 4 / /
— e /Y5 ( —S...z 6-
<y ™
PLAZ TG0 C sy 4 ) =MC

Answers 5.77 ’,_12_ o // ¢ZG _ —Oe /Yf4 6;?6/

254 (v = 0, /ec
|D:4.4_121ﬁ'/73;?) //(2‘(6‘- o jt/ /%f— = =0, /Yl’/{/l/
/Zi(’ Ec6: = «07’%&@@4 . /&;‘ ( S ) =0, /{{T/A
A3 - —o.lesh (1) —,_’@ﬁ;gq ":/‘ZZ
- 2£3 ';___M 05 300 (777 v
Bl

51of63\ —0./~/rw;x - g 337 ﬁAh@LN(MM
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55. Between 12:00 PM and 1:00 PM, cars arrive at a bank's drive-thru at the . rate of 6 cars per hour (( (0 A car per mlnute) )
following formula from statistics can be used to detenn_ge the probability that a ¢ar will arrive within t minutes of 12: 0DP~ .

=Cle

e G O ahar

(a) Determine how many minutes are needed for the probability to reachf 40%! .

About t ded for th bability 40
ou minutes are needed for the probability to rea y(‘_’( _

(Round to two decimal places as needed.)

(b) Determine how many minutes are needed for the probability to reagh 90% ]

About minutes are n for the > probability-to-react\90 4 C)‘
(Round to two decimal places as ne?de;q F?ﬂ () Lt ( -

—

[4

(c) Is it possible for the probabiility to equ I 100%'7 Explain. Select the & rrect choice below and, if nec ;sary. fill in the \

i <M= P Y &cmé%/ﬁ/

answer box within your choj

() A. Yes, about minutes are needed for the p?bablllty to rehch-i 0%.
(Round to two d9c|mal places as needed.) .— C’ Z - /Q

1 B. No, becausewhen determining the number of minutes, the exponential equatlor\
changed to'a logarithmic equatlon as the domain of the logarithmic function is x

~(( -~ %" )i~y oGl Myt

Answers ;/11 6-;0 e /g Dol gt
3.03 2O/ 9/ 2502575

B. wp"'(e ) = Aoa 1) =2%.03 /";’

No, because when determining the number of minutes, the exponential equation not be ¢ nged toa |
logarithmic equaﬂpn as the dom,aln of the logarithmic function is x > 0. L 1°?»”

= O [£ A (ﬁ:[? (+027
~0: /¢ ((/ Jo)d

k"““‘_:_-r_;JID 4—4“ 3\ & /\é =8 {Z (’,/ ) /—"’.— ’_-d_;-:---'-'f-'-.J“T:‘_
{; 56. The formula__——— R ’)_d A%/ lé/fp/- In

,---6"5‘:0'1;\\.._- @f{ Q blodj;}reqm .

can be used to find the number of milligrams D of a certa:é;g that is in a patient's blood

was administered. When the number of milligrams reach
between injections?

The time between injections is | hour(s).
(Type an integer or a decimal rounded to two decimal places as needed.)

Answer: 9.16 ZM 5 6“ :’,,4,, _‘?/g? /-)—;)

I Z. (

.

— ‘ —(.)
ID: 4.4.125 5 3 :

n

temprod pearsoncmg comfapwlfpr:utfmath

O’IC) /Z/féo/ ‘.

(e 60D |
~0(€(1)= (g0 )
e -/u_{_éﬁ{

nnotbe‘ U f -, /

= C—"\
0'7”3 25"// wﬁ =
Ok — '

/a ks X

stream h hours after the drug ._

he drug is to be administered again. What is the time

- 2.l 4

-0,

= é i \U/'/ '.

H —

z - C’——_i};: W ég 7}/7

| esen R

"'\.\_ L) 2)= 0-1h %(f)/f' |

\ [ £)=~0:/4 (1 s 4
// /,_0/4 "’/

_J___r"'—_ﬁ-".__________'___--‘"- »
52 of63 : T T——
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57. The concentration of alcohol in a person's blood is measu bte"S:Epose thaﬁﬁe“t‘elatwe risk R (given as a percent) of

2-equation R"-ae wF is tge varjable ooncentraﬂnn o/f’ X
~ ¢

) hai’lng an accident while driving a car can be modeled by {l
alcohol in the blood and k is a constant. ( 1O = 5

(a) Suppose that a concentration of alcohol in mé‘blood\ﬂf 0. Ojesults m@%% relative n%< é&'
the consta@tb in he equation. /C ) = 3 C
0.06k

/rw___ 29, 07,( (Round to two decimal placesasXaeéad\) %c_l g g ﬂ-‘/( = 9&7‘ 67/ ?7 /77 |
|s%c_ / - % Z//

(<
7 (b) ldsmg the ualue of k found in part (a), what is the relative qsk if the concentratrono

/U l / / U
~ " R= e % (Round to the nearest percent as neéded.) ?’ & 6 ’,
/ N

/€~ ( c) Usmg ti j valye of k found in part (a), what ooncejhtratio;n of alcohol co spands to mlat@( f100% ZO 07x
i A

2] EA(C
& w2 n(8)- 4] ___36

~) =
/ (é %d) Using the value of k found in part (a), if the, ldw asserts that anyone with a relative risk. havmg [ accident o 15% or./
centration of alcohol in the bjood should a driver be arrested ar}d I x

more should not have driving privileges, a/hﬂhat
charged with a DUI? (L) - g /< ,&r )
/u.(f-q’:_ 007 & / a7 SUF R e
= (Rounql, o decimal places as needed ) P . =
; % /Zv ,4) 6. 061/, ,.j__w,ﬁ = CO07XK

1, Q6£ (’d.f’7)<
Ll dsey” /Z(a—f hE T

[ 2  ocziavph K (L zo,aixﬁ/
-,:,,r Y //AL/) ?dﬂ/’%(// /74///4’3’;7; *,?)

| (Round to three decimal plaoes a{ needed.)

EW
"-——b’ . ? - . ,—-Z_'—'_'_—_. ' /7 - X — /
2)5)1 d 7 d : C)' 4 7 = — -
— R = — ————. — —
58. Write the expression as a sum and/or difference of logarithms. Express powers as factors. 74;/374 \

(Gt < yzr

In (x14 5—x),0 <x<3$
In (x14 5—x) =[ R | (Simplify your answer.) o (/4"//{ ,{/%ﬂ)

A+ % ()(/‘(F)S’:
ID: 4.5.47 /g)/,(/f) %/Z‘ ﬂ_—
Ay ) K )=

V't L

W —__F—-—._—'_-—-h“_—
S = aaaa 10/17/2019, 9:42 AM
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§9. Write the expression as a sum and/or difference of logarithms. Express powers as factors. é}

A= /457//’/
/ e

4,
e ,-:.9 A b bl ) —&, /
|°g[(:+6)7)] lbj()(ﬁ(ﬁﬁ) 40) 0(7(/ 7 Jg(,« / A/.gﬁ(/[f:

X(c+7) s (4 + Los(tey) — ic/)/ﬂw—é/;;_ﬁ;,
log == (Simplify-your answer) S
ezl —CLos(x) + Loy (br7)—1 Loy (h#6)

Answer: log x + log (x+7) -7 log (x + 6)

ID: 4.5.51

P ———— —— g ——

60. Write the expression as a single logarithm. . ( X - ) ,’\CU 6( { Z)
/ ks (/ as )) w ( 3/ )

2log 7(x+5) - log ;(x-8) - log ;(x-12) =

- V-p (K»r;)—— ﬁr«- ({-«w + Loy (v))
— ’7

2log 7(x +5) - log 7(x - 8) - log 7(x - 12) =
(Simplify your answer.)

Answer: (x+5)
lod 7| - 8)x-12)

ID: 4.5.69

61. Solve the logarithmic equation.

logg(x+6)=logg7

Determine the equation to be solved after removing the logarithm. ' /( 7 6 - 7

(Type an equatibn. Do not simplify.)

Select the correct choice below and, if necessary, fill in the answer box to complete your- chotmﬁ——\
X =1

O A. The solution set is { }

(Simplify your answer. Type an exact answer. Use a comma to separate answers-a
needed.)

() B. There is no solution. O( N h"d'#_\“*
_"_‘N
Answers X +6=7 X"ﬂ , 7

A. The solution set is { }

(Simplify your answer. Type an exact answer. Use a comma to séparate z answers as needed.)

ID: 4.6.9-Setup & Solve
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ylve the logarithmic equation. / k j ()d&/ﬂ_ (’() < ZL j 0@ }‘f’(tl) /(,U—-/?} =

log x+ log (x - 99) =2 /c? 4» X(/( 9(,) [U.-(/w)'f(u}(() 2

Determine the equation to be solved after remgving the logarithm. 7

— /0= X c-95X

OZ” 9 6(’0(/(

EEE— L — )

(Type an equation. Do not simplify.) 0 = )( —7 TA / &

Select the correct choice below and, if n sary fi II in the answer box to complete your. 31 :

V K’#ﬂ' (X— 72

() A. The solution set is { - } ( o 0’,(: /(’7/(:’ (/ ——gi

(Simplify your answer. Type an
needed.)

act answer. Use a comma to separate answers as

L2 O pprie= 07

Cuc (‘-/) ‘f&*’j(/ﬁ 5)= )

jon set &2
A. The solution set is I Cu (,_/) _f &5 // )< W ngﬂ’/*
(Simplify your answer. Type an exact ahswer. U e a oomma to s?p te answers as ne ded.) a . /

ID: 4.6.17-Setup & Solve X /0 0 \

{73 B. There is no solution.

Answers x(x — 99) = 102

63. Solve the following logarithmic equation. éﬂ.’/ (/)(f }) [U) ()( -—5)7) — ’ "
log (7x+3)=1+ log (x - 8) L(U _ TKF3 N — /

—

Select the correct choice below and, if necessary ﬂlf‘t?l eansweéox to complete your choice. : A V \ 7
/ 7Xrt 3 K Q/

) A. The solution set is { } \ - ,( 5‘7
(Simplify your answer. Type an exact answer Use a comma to separate answers

() B. There is no solution. /O — 7,‘(‘1‘ 3
\ = XF X-5 o« ¥

Answer: A. The solution set is {' [} [(7( K__g) I KZY(’T’" 3‘

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.

T LU= §0 = TXA2 . [+ Lo/
D:46.19 0)( /0/765"0 7/('7L57Li A (/X”N’/ 2 f)

W N T E Lo ﬁﬁ”) ) 173
AT TIP3 7/7< ggjéwx 6660 +3) < [ +Ca //%a,/( )

X F3
3 L2
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/é’) Crl( K] .
64. Solve the following logarithmic eQUatlon ¢ &//{)ﬁ(f 7) D {'77‘1 / ) 'f/ }( al/ 7“1") =7

2% Ocrlt)
+ + +9)= f // ()({ ?)
log,(x+11)+ log,(x+9)=3 6’7 {L = 7)( ~ [ )(’7"(;/ /0 [s/’) -,'—gfu) (2) 5
Select the correct choice below and, if necessary, le in the answer box to complete your mcei )/ 6:5"“
'J &

> X —f/d)(ﬂ e

/ SR
) A, The solution set is {__ MMMMMMMMMMMM O X/ 7 GG > f PN e,

(Simplify your answer. Type an exact answer. Use a commato s /Jarate answers as needed.
() B. There is no solution. C} TX -f’("v’ -+ 7 ij&( [ 2#(¢ )"H:Ue (‘f-?""i) =3

/ z_’
& = ("f ?”7)C?<”") [, Loy, (-2
Answer: A. The solution set is { -7 [ &/7'. =Q x/,tjj . 22 ( ) ’L("' (,.-cr) =

(Simplify your answer. Type an exact answer. Use a comma to sep { te answers aw
A/+Z_J- =) & /\/‘f-/} 3 el AP ot

ID: 4.6.21 =7 o ) _/_./ Q”_"'L[

e e ————  — —_—

65. Solve the following logarithmic equation. Express irratto(rlﬁ;olutlons in the exact form and as decimals.

2log7(x-4)—log7100=log7e [U/ ()(”C/j __(U) //()d) [ //

The solution set is
(Use a comma to separate answers as needed Slmpllfy your answers. Type exact answers, using radicals as needed.)

Express irrational solutions as decimals. Select the correct choice below and, i Znecessary fill in the answer box to

ke

complete your choice. ( j - Q/“' 9)

) A. The irrational values of the solutions set rounded to three deélnal places are

les, (7).
{ +

(Use a comma to separate answers as needed{ Round to three decimal places as ne ded.)
() B. The solution set has no irrational solutions. ("(r-t,/ T

Answers 24 /‘-)J _l,_- é-"'—'““

B. The solution set has no lrratlonal so /(ﬁ ( )\/ rqzi:7W/ #}
ID: 4.6.33 | -_ "-Sc) Z«/_ goo f(’/ //){’Qté

(/((/,qu - Tffw | x(% (Zﬂf—r (0") /”5//
re T, (2o, (20) - lo, /w):aj )
o —2s O X7 \ OUJ/ @W/ é'u

K=" ' )(,,W = Z/Of% T

92((_5 //6 9‘)- //UU) /4/} /¢/

56 of 63
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-

= .
66. Solve the following exponential equation. Express lf'rational solutions in exact form and a }ﬂ

imal places. e 47 _ ._}_,f'
x-3 57 G % - 4

8 =64
What is the exact answer? Select the correct ¢hoice below and, if necessary, fill in-the answer: ‘aﬁ'ﬁ_':p .
choice. L g N
O A. The solution set is { B } (,; o Nt

(Simplify your answer. Type an exact aniswer.) 5 \

() B. There is no solution. o } \

What is the answer rounded to three decimal plao'gs? Select the correct choice below and, if necessary, fill in the answer

box to complete your choice. \.\ )(’b = S = 57/ 3 C// HI

(A The solution set s { }. g@j Q 0§ e //H/'{
(Simplify your answer. Type an integer or dec:r?ﬁﬂ -rounded to three decimal places as .
_\_-R\_\_‘_‘__,————_——\_\_ -

needed.) —

() B. There is no solution. @ z Y
A
u erTy)

Answers A. The solution set is { 5 [} .(Simplify
A. The solution setis {  5.000 .

(Simplify your answer. Type an integer or decimal rgdéinded to three decimal places as needed.)

)(,_

“ID: 4.6.41 ‘

/ : 1/27[ - ///(?’/.
/ﬂ'b)/ﬁ//) - K5/

) b)) - )—ﬁﬁ) |
% _,,A/z)

— e — e ———

e i —_—
K OfZJM’- 10/17/2019, 9:42 AM
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67. Solve the following exponenQal equation. Express irrational solutions in exact form and as a decimal rounded to three

decimal places. / (;() [ (// 7 '(mﬁ_ N
el (u.ﬂs Cr/ 4 ”) _))

What is the exact answeﬁ Select the correct choice below and, if necessary, fill in the answer box t oomplete your /) = /-' 5

choice. ‘/ﬂ? (' — /Z///
) A. The solution set is{ } /‘“‘(/6) /ﬁ/if»/

(Simplify your answer. Type an exact answer,).— e t.'./

() B. There is no solution. (X: A/é@ QFMJJ

What is the answer rounded to three decimal places? Select the carrect choice below and, if necessary, fill in the answer
box to complete your choice. v e

) A. The solution set is {

(Simplify your answer. Type an integer or decimal rounded to three decimal places as
needed.)

) B. There is no solution.

|
Answers A. The solution set is ine .(Simplify your answer. Type an exact answer.)

A. The solution set is { 1.161 }

(Simplify your answer. Type an integer or decimal rounded to three decimal places as needed.)

ID: 4.6.43
—— = — — 1—-1\-

68. The populatlon of a certain country @ 1999 was 286 m’iillcn people. In addition, the population-of the counfry was growing
at arate 0°/ﬁ$er year. Assuming that this gro growth rate continues, the mcqél P/) 286(1. 010)t i represents the

population P-(i millions of people) in year t.
Acifmg to this model, when will the population of the country reach

315 Million people?
(bt/o million people?

(@) Thqpbpu!atlenlof the country will rea{:h 315 mllllon people during the year |
(Round down to the nearest whole number as needed )

e

(b) Theigﬁpulanon of the country will reac 380 'million people during the year
(Round down to the nearest whole number &8 needed ) -/ 7‘/57

. _ 0 O 0

2 A 3/5% 286 (/ é) (599

Answers 2008 )) Ly - //{ ( / 0/ d )
2286 T 2E £—/959

o (1, /(//Wf)%zfﬁﬂ/o)/f‘
([ 101395) = fe—1553) 4 ([ 0/0)
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Al A fTer)
(1191379
Tl SRR — e — P
%//,0/0) - é /??}
W /995 T €PN
/ﬁ //0/(})_,. -
700870633 = € B~
- &1 —_—

350 < 266 (1.01) .
%%‘i z4¢ (1.017)
206 ¢ —1995
/ ?z z¢11 = ([.000) i
Lt szren) =R (lar)
A (].3e7671) = /t—"-/ffy/ﬁ (foo1 o)
A ([327e7l) < C{f/?«m)/f (4r973)
P //«»0/“)) B YA
7 ([.32067]
/ékz (///. o) F =i
A (13287 + (979 = %F%v* /557

A (09 - -
2 O’Z 2.55977 }ia\'/ﬂ"
6‘%
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69. F|nd the amount that results from the given investment. 4 / (/ ) / ) ;‘( %) et
$600 pvesta@ fﬁg;mpounds@ane}ly,aﬁera perio@fa years \ A 6 GO (/ e 4 (/S Fig o
c, 03
After 3 years, the investment results in $| V= 5‘7 4
(Round to the nearest cent as needed.) A 60 Q _C('_f & OOA (2 ,VC 4" @“’L"
Answer: 696.45 (/4 6 C; C G527 0k // L2 3y Y/
an
& ID: 4.7.7 C C C <% 5 \‘] ﬁdﬂt
W

bes it take for-an mvestm}@uble In‘

.(qontmu_ slyQa //// 2oy //-//

At 20% fcompounded-quarterly, the investment doubles in

lue if it is mvested@ egmpcunde quartggly? Compounded—u_

(@ bl BEARE 1Y1

years. N f—-u W Ars

Round to two decimal places as needed.) &t < 2l = 2
2 ¢ 0 ":1"-‘«‘-:#:%___ C 0 &€
oompotu%?!ed—gogkrfug:!y the m\‘:'és ent doubles in about | iﬁ?@f“??{:?_ v 7 ) R /Aq Cﬁ g
nd to two decimal plaoes asPt?eded ) Jé.,, [2) 5.7 é//” ( Y ﬂ,/
2. w ([ ’ "g ! o
nswers 3.55 20 )€ = 7 A 7 920~ ()= neldi
2= (7, ¢ 2 W h ’_t‘.‘_

[— ZLGZ(
z//h)fz’u(-ﬂ é\

% YNNEESY el = o o
_ by S PO "’"Jfé:m C”rg..wz«z;ig_ql

B

many years will it take for an initial mvastmﬂ%a _Ob"'t‘o gl wt $75.000 Assume a rate of int@of 5% ‘)
AT o '

It will take about | | | years for the inve
(Round to two decimal places as needed.)

Answer: 18.33 (/4 /( /(7\

& ———%5
ID: 4.7.41 7YOOL) BOOCD 6) 05 C.
ﬂ? / S-OUU . '({'3 CJ (

—

§ Qu ouu & 300 0o
B w0 5¢
203 -

C o5
M2 ) _K(C )
/Z/Q s)z .o5€ /%7(?‘/
%/2)’)‘»af'é///

/g/zj) c05€ /,
/Zcﬂ) .:ﬂ._.é/__J__é_ ’

H—_;rd Sr’ *"dﬁ,/
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72. The population of colony of mosqubes obeys the law of uninhibited growth. Use-this information to answer pa C);L.}//

through (c). ,tcf: (C)A f/ /t ( o

(@) IfNis th(ﬁ:}:ulatnon of the oolony and t is the time in days, express N as a function of t. Consider: N is the original

- I<i o
amount at t=0 and k#0 is a constant that represents the growth raté_ s ) /S =/Owo C Ic s

in terms of e,.yda{ } _ 7 okl(.f

\

\

(b) The populaﬂon ofa c%:my Lp h. If there aiooo ﬁosqunogs initially an
there ar 150@-aﬂer1 day,.wha g
< , F=

£ :
_ﬂ»—;f la ) :_,,%‘1((‘ ; \])

N =| (T ype an ex ressuon using t as the variable and

g : ope e mbergshesded) (1 <)= f Lot/
(c) How long is iuntil therea@oeq}nosqunoe-p% /900

. L15)= T/ P
= = S 5.E ' . !
About days. 70 < ¢ FOTE /Z([ VAN S
(Do not round until the final answer Then round to the nearest tenth as needéd. ¢ %} S"Cfé I"/U // )é\

“{[70) /ﬂ( Vuﬁ’(/

‘%(m_ o5 ¢ Ay
375 _A(7,) < ys/ar;f-’(//
105 _M(70) = - S OCTE A

M 7O ) F0 % € &?77/7;«7( ( A\
( \'Jg")’- "?“‘SS»/ _ \

wood of a tree shows orlly 68% Bf the

[*7{6)’) /Z’t (/ Soew

ME ) = /O(’G‘ G.?’OS;’{ )
/{//3) N /(X/(j(—"’/!/ G S'K"(z)J)ﬁ
V(%)= 33750353655

ID: 4.8.5

{ carbon- 14 expected in living-matter, when did the tree die?—

-y

The tree died about | | years ago.
= 4
(Do not round until the final answer. Then round toE nearest whalﬁzzybar} 6[ (67) 57{0) ,% / / t//
L ) stco a6 )) g A
Answer: 3116 G é /0()/ ) ;{L,( [ g 3 T 7 'l-?/. /

66&4 7—
A &l-) —

%w) Stg. Al =St €
‘2"3,(2__2 _ SEeu_

vl
ID: 4.8.11 Bn (,//)je.w J‘?(/)

74. After the release of radioactive materlal into the atmosphere frama~nuclear power plant in a country ir[\d995 the h y-i
that country was contaminated by a radioactive isotope (half-1 g‘g days). Ifit is safe to feed the hay to cows wheré%

the radioactive isotope remains, how long did the farmers nee wait to use this hay?

The farmers needed to wait approximately | i days for it to be safe to feed the hay to the cows.

| (Round to one decimal place as n: ,,&Bd?Q‘L - _/Z//{;) 8
Answer: 24.5 @ /( ,ff o H(/ - 57

2= o0k /
. of2)
ID: 4.8.21 ’t _,_._/U,.L ; f /i:é\,c—/f ;7\{

/w —
¢ (X< /—-/J’ 4@/ “71/ ¢557 T € B |

u%»( /L) = %/ /!I 2¢p ¢ o€ N f.c)w;/ |
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goAcH o
Uninhibited growthrcan be modeled by exponential functions other tha ?k(t) =Ag e . For example, if an initial population
g{/ e = t 'L/“/
2 P — ROACH

P, requires n units of time /triple, {en the function P(t)=Py(3)" models the size of the:population at lime t. An insect
0 0 a

population grows exponentially-Complete the parts a through d below. -

{a) Itthe population triples in 30 days, and 50 insects are present lnlml[ygvutean_expg_lzgnhal function of the form

i B IACH 2
P(t)=Pg(3)" that modela@\apopulaﬂ on. @?{ / = 50(3 ) ,"‘/,/
P@)= /! ((’/ i/ %\))

Ropch 3)
R A T e

The population in 46 days will be

(Round to the nearest integer as needed. )

75.

C(c) When will the population re 70&?,#

A L4 .
The populahoh will reach 700 in |da
(Round to one decimal place as needed.)

) ) 700~ $0(3) :J

Qd} Express the model from part (a) in the form A(t) = A, ek

T 2w (20
P() = / gt 3%

(Use integers or decimals for any numbers in the express:on Round to three decimal places as needed )

Answers t ) il L__)k{ . /3/ _5'.., £
0037t é

ID: 4.8.32-GC //FSOKBJ/
ﬂ// S”OC?W{B (“?‘ol)éh_

yﬁﬁ? gfggffiffEZfﬁ;~/)
D037 «
e
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76. Solve the system of equahons If the system has no solution say that it is inconsistent. é ” 2
& | Yi—3 FYVT6T Su b
4X —3 = _1 i N - o D R
10+Y23 3 = T y"of ?f j’f F=Bp= =4
X+y = . - Y ’ = :
I 1o =67 ¥=z") re) =37 =

Select the correct choice below and, if necessary, fill in any answi boxes withir your choice.

_._3-}

) A. The solution of the system is x = andy= . 7— 3 /" = / d
(Type an integers or simplified fractions.) -2 / e |

(_1 B. There are infinitely many solutions. Using ordered pairs, the solution can be written as @
{(x.y)]x = ; ¥ any real number}. - 3j g =
(Simplify your answer. Type an expression using y as the variable as needed.) -3 -3 =3

(O €. The system is inconsistent. ( j . 3

Answer: A. The solution of the system is x = 2 landy =] 3
(Type an integers or simplified fractluns Y H“"““n

ID: 6.1.33

(// ‘/)/ [2 3) )

77. Solve the given system of equatlons If the system has no solution, say that it is in nsjent \) 4
| an @A’;/ Z" 30y
/

'\ X=-2y+3z= 4

2x+ y+ z= -2 -
-3 +2y-2z=~1 (A / “l
— 2 ==
Select the correct choice below and fillinrany answerboxes within your choice.

O A. The solution is x = e ,and z= . (Type
integers or simplified fractions.)

(O B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.2) | x= y=_ .z any real number}.

(Simplify your answers. Type expressions using z as the variable as needed.)

(0 €. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{(X.V,Z) I x= .,y any real number, z any real number}.

(Simplify your answer. Type an expression using y and z as the variables as needed.)

(O D. The system is inconsistent.

Answer: A,
The solution is x = =1 Y= -1 | andz=| 1 (Type integers or simplified
fractions.)
Lty mcteny [PRIE) | ) rre )
ID: 6.1.45 2 / /\
n=- § =

FreF( TAY= | [ oo

A N
R C) O /

9,8) =1, 1))
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78. Find the sum of the sequence.

Z(4k 4)
= )~y 1 512)-5 ) (53)~5) (%% —v)

Z(4k 4)-5(4?‘:"‘{) 'f(f-%) Ff(/Z‘V}”f(/G-V)+/ZJ vf@‘/ S//_

o (CC%;*S/)* (/) +(r2)+(1¢) =

ID: 7.1.73 & U 9//‘7/’4"’/ Cela LM@/‘(/ Z/ _5“““"‘4’-_”?_.5

—— e -

79. Expand the expression using the binomial theorem.

(x+2)°
o+2f= ]

Answer: 8 , 19,5 1 60x* +160x° + 240x% + 192x + 64

4 (&1/2)% C(dé)-f C@)( '3) =

X '5( Cf‘-‘)(i( /l//")
(1)) 'f’/g}ﬂ)/z)'f'(/s)(ww s F/}(X')(fz )4(1)(1) (69 =

ID ?51?

< )7
ST C wr’, ceryt ST

N h

“ qiX 67 °
Q(ZXTGOX-r/édX”fZ“X"L/,, |
O{S( ji/cﬂ[‘)"
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